Одноатомные спирты.Получение:
C5H11Cl + KOH(C5H11OH + KCl(иногда).

CO + 2H2—220-300,5-10,Cu,ZnO(CH3OH(синтез).

CH2==CH2 + HOH—280-300,7-8,H3PO4(C2H5OH(совр.произв.).

C6H11O6(2C2H5OH + 2CO2((древний метод).Реакции:

2C2H5OH + 2Na(2CH3—CH2—ONa + H2((активные мет.). 

 2CH3—CH2—ONa + HOH(C2H5OH + NaOH(гидролиз).

CH3OH + HCl—H2SO4(CH3Cl + H2O(гал.).

C2H5OH—t>140,H2SO4(CH2==CH2 + H2O(дегидр.).
C2H5OH + C2H5OH—t<140,H2SO4(CH3—CH2—O—CH2—CH3(д.э.).

C2H5OH + 3O2(2CO2 + 3H2O(горение).

C2H5OH + CuO—t(ацетальдегид + Cu + H2O(окисление).

Уксусная к-та + C2H5OH—t,H2SO4(эт.эфир укс.к-ты + H2O(сл.эф.этир.).
Одноатомные спирты.Получение:
C5H11Cl + KOH(C5H11OH + KCl(иногда).

CO + 2H2—220-300,5-10,Cu,ZnO(CH3OH(синтез).

CH2==CH2 + HOH—280-300,7-8,H3PO4(C2H5OH(совр.произв.).

C6H11O6(2C2H5OH + 2CO2((древний метод).Реакции:

2C2H5OH + 2Na(2CH3—CH2—ONa + H2((активные мет.). 

 2CH3—CH2—ONa + HOH(C2H5OH + NaOH(гидролиз).

CH3OH + HCl—H2SO4(CH3Cl + H2O(гал.).

C2H5OH—t>140,H2SO4(CH2==CH2 + H2O(дегидр.).
C2H5OH + C2H5OH—t<140,H2SO4(CH3—CH2—O—CH2—CH3(д.э.).

C2H5OH + 3O2(2CO2 + 3H2O(горение).

C2H5OH + CuO—t(ацетальдегид + Cu + H2O(окисление).

Уксусная к-та + C2H5OH—t,H2SO4(эт.эфир укс.к-ты + H2O(сл.эф.этир.).
